INSTRUCTIONS:			TIT	LE OF INFORM	NT	OMB NO.				
									0579-0049	
					Foreigr	n Quarantine	Notices		DATE PREPARED	
		T	T						July 16, 2018	
IDENTIFICATION (OF REPORTING OR RECORDKEEPING REQUIREMENT									
				REPORTS						
SECTION OF REGS (TITLE 9, CFR)	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORDKEEPING HOURS
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)
7 CFR 319	Bilateral Operational Workplan (Foreign Gov't)	None	31	4	124	40.000	4,960			0
7 CFR 319	Audit (Foreign Gov't)	None	1	1	1	1.000	1			0
7 CFR 319	Audit (Business)	None	1	1	1	1.000	1			0
7 CFR 319	Requesting or Revising Pest Risk Assessment (Foreign Gov't)	None	25	1	25	5.000	125			0
7 CFR 319	Requesting or Revising Pest Risk Assessment (Business)	None	5	1	5	2.000	10			0
7 CFR 319	Cooperative Service Agreement with Trust Fund (Foreign Gov't)	None	43	2	86	40.000	3,440			0
7 CFR 319	Plant Broker, Production or Processing Site/Facility Registration (Foreign Government)	None	50	12	600	2.000	1,200			0
7 CFR 319	Plant Broker, Production or Processing Site/Facility Registration (Business)	None	560	1	560	1.000	560			0
7 CFR 319	Foreign Site Certificate of Inspection and/or Treatment (Business)	PPQ 203	201	150	30,150	0.500	15,075			0
	SUBTOTAL				31,552		25,372	0		0
	TOTAL OF ALL PAGES		22,115		51,465,251		515,262	576		27,601
	TOTAL COLUMNS F + I = OMB 831, 13b COLUMNS H + K = OMB 831, 13c				51,465,827		542,863			

INSTRUCTIONS:				TIT	LE OF INFORM	ATION COLLEC	TION DOCUME	NT	OME	3 NO.
									0579	-0049
						DATE PREPARED				
									July 10	6, 2018
IDENTIFICATION	IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT									
is a first of the office of th					REPORTS				RECORDS	
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORDKEEPII HOURS
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)
7 CFR 319	Application for Permit to Import Timber and Timber Products (Business)	PPQ 585	450	1	450	0.500	225			
7 CFR 319	Application for Permit to Import Timber and Timber Products (Individual)	PPQ 585	45	1	45	0.500	23			
7 CFR 352	Application for Permit to Transfer Plants and/or Plant Products through the United States (Business)	PPQ 586	500	1	500	0.500	250			
7 CFR 352	Application for Permit to Transfer Plants and/or Plant Products through the United States (Individual)	PPQ 586	100	1	100	0.500	50			
7 CFR 319	Application for Permit to Import Plants or Plant Products (Business)	PPQ 587	5,200	1	5,200	0.500	2,600			
7 CFR 319	Application for Permit to Import Plants or Plant Products (Individual)	PPQ 587	500	1	500	0.500	250			
7 CFR 319	Application for Controlled Import Permit to Import Restricted or Not Authorized Plant Material	PPQ 588	500	1	500	0.250	125			

50

700

70

50

700

70

8,116

0.250

1.000

0.083

0.083

13

58

6

3,601

PPQ 588

None

PPQ 564

SUBTOTAL

(Business)

(Individual)

(Business)

7 CFR 319

7 CFR 319

7 CFR 319

7 CFR 319

Application for Controlled Import Permit to Import Restricted or Not Authorized Plant Material

Request for Additional Mailing Labels (Business)

Request for Additional Mailing Labels (Individual) PPQ 564

Appeal of Denial or Revocation of Permit

INSTRUCTIONS:			TIT	OMB NO.							
									0579-0049		
					Foreign		DATE PREPARED				
									July 16	6, 2018	
IDENTIFICATION (OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL	BURDEN				
IDENTIFICATION	OF REPORTING OR RECORDREEFING REQUIREMENT				REPORTS				RECORDS		
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORDKEEPING HOURS	
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(I)	(J)	(Col. I x J) (K)	
7 CFR 319	Compliance Agreement (Business)	PPQ 519	200	1	200	1.250	250			0	
7 CFR 319	Compliance Agreement (Individual)	PPQ 519	20	1	20	1.250	25			0	
7 CFR 319	Phytosanitary Certificate (Foreign Gov't)	None	75	2,100	157,500	0.333	52,448			0	
7 CFR 319	Phytosanitary Certificate (Business)	None	1,040	151	157,040	0.167	26,226			0	
7 CFR 319	Labeling and Marking (Foreign Gov't)	None	50	1,000	50,000	0.006	300			0	
7 CFR 319	Labeling and Marking (Business)	None	500	100,000	50,000,000	0.006	300,000			0	
7 CFR 319	Importer Documents for Logs, Lumber, and Wood Mulch (Foreign Gov't)	None	100	5	500	0.500	250			0	
7 CFR 319	Importer Documents for Logs, Lumber, and Wood Mulch (Business)	None	500	10	5,000	0.500	2,500			0	
7 CFR 319	Agreement For Post Entry Quarantine State Screening Notice (State)	PPQ 546	36	1	36	0.250	9			0	
7 CFR 319	Agreement For Post Entry Quarantine State Screening Notice (Business)	PPQ 546	70	1	70	0.250	18			0	
7 CFR 319	Agreement For Post Entry Quarantine State Screening Notice (Individual)	PPQ 546	7	1	7	0.250	2			0	
	SUBTOTAL				50,370,373		382,028	0		0	

INSTRUCTIONS:	RUCTIONS:				LE OF INFORM	NT	OMB NO.				
									0579-0049		
					Foreigr	Quarantine	Notices		DATE PREPARED		
		T							July 16, 2018		
IDENTIFICATION C	OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL	BURDEN	ı			
				1	REPORTS		1		RECORDS	1	
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORDKEEPING HOURS	
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)	
7 CFR 319	30-Day Article Notification (Business)	None	10	1	10	0.083	1			0	
	Request for Emergency Trans-Shipment or Diversion (Business)	None	200	1	200	0.050	10			0	
7 CFR 319; 7 CFR 352	Notice of Arrival (Business)	PPQ 368	20,000	50	1,000,000	0.083	83,000			0	
7 CFR 319	Emergency Action Notice (Business)	PPQ 523	7,000	4	28,000	0.500	14,000			0	
7 CFR 319	Emergency Action Notice (Individual)	PPQ 523	1,000	2	2,000	0.500	1,000			0	
7 CFR 319	Training Records (Business)							1	1.000	1	
	Trapping, Production or Processing Site, Facilty Recordkeeping (Foreign Gov't)	None	50	500	25,000	0.250	6,250	75	48.000	3,600	
	Trapping, Production or Processing Site, Facilty Recordkeeping (Business)	None						500	48.000	24,000	
	SUBTOTAL				1,055,210		104,261	576		27,601	

INSTRUCTIONS:				TIT	TLE OF INFORM	ATION COLLEC	TION DOCUME	NT	OMB NO.		
									0579-0049		
						Buffer			DATE PREPARED		
							BURDEN		July 16, 2018		
IDENTIFICATION (OF REPORTING OR RECORDKEEPING REQUIREMENT					RECORDS					
	T			REPORTS						1	
SECTION OF REGS (TITLE 9, CFR)	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS	
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(I)	(J)	(Col. I x J) (K)	
7 CFR 319	Buffer - Bilateral Operational Workplan (Foreign Gov't)	None	5	1	5	40	200			0	
7 CFR 319	Buffer - Requesting or Revising Pest Risk Assessment (Foreign Gov't)	None	20	1	20	5	100			0	
7 CFR 319	Buffer - Requesting or Revising Pest Risk Assessment (Business)	None	2	1	2	2	4			0	
7 CFR 319	Buffer - Cooperative Service Agreement with Trust Fund (Foreign Gov't)	None	4	1	4	40	160			0	
7 CFR 319	Buffer - Plant Broker, Production or Processing Site/Facility Registration (Foreign Government)	None	5	10	50	2	100			0	
7 CFR 319	Buffer - Plant Broker, Production or Processing Site/Facility Registration (Business)	None	50	1	50	1	50			0	
7 CFR 319	Buffer - Foreign Site Certificate of Inspection and/or Treatment (Business)	PPQ 203	4	150	600	0.500	300			0	
7 CFR 319	Buffer - Application for Permit to Import Timber and Timber Products (Business)	PPQ 585	20	1	20	0.500	10			0	
7 CFR 319	Buffer - Application for Permit to Import Timber and Timber Products (Individual)	PPQ 585	2	1	2	0.500	1			0	
	SUBTOTAL				753		925	0		0	
	TOTAL OF ALL PAGES		238		506,135		4,860	55		2,640	
	TOTAL COLUMNS F + I = OMB 831, 13b COLUMNS H + K = OMB 831, 13c				506,190		7,500				

INSTRUCTIONS:				TI	LE OF INFORM	ATION COLLEC	TION DOCUME	NT	OMB NO.				
						Buffer				-0049			
									July 16, 2018				
				ANNUAL BURDEN									
IDENTIFICATION	OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS				
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS			
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(I)	(J)	(Col. I x J) (K)			
7 CFR 352	Buffer - Application for Permit to Transfer Plants and/or Plant Products through the United States (Business)	PPQ 586	40		40	0.500	20	U)	(6)	0			
7 CFR 352	Buffer - Application for Permit to Transfer Plants and/or Plant Products through the United States (Individual)	PPQ 586	4	1	4	0.500	2			0			
7 CFR 319	Buffer - Application for Permit to Import Plants or Plant Products (Business)	PPQ 587	50	1	50	0.500	25			0			
7 CFR 319	Buffer - Application for Permit to Import Plants or Plant Products (Individual)	PPQ 587	10	1	10	0.500	5			0			
7 CFR 319	Buffer - Application for Controlled Import Permit to Import Restricted or Not Authorized Plant Material (Business)	PPQ 588	20	1	20	0.250	5			О			
7 CFR 319	Buffer - Application for Controlled Import Permit to Import Restricted or Not Authorized Plant Material (Individual)	PPQ 588	5	1	5	0.250	1			C			
7 CFR 319	Buffer - Appeal of Denial or Revocation of Permit (Business)	None	1	1	1	1	1			С			
7 CFR 319	Buffer - Request for Additional Mailing Labels (Business)	PPQ 564	100	1	100	0.083	8			0			
7 CFR 319	Buffer - Request for Additional Mailing Labels (Individual)	PPQ 564	10	1	10	0.083	1			C			
7 CFR 319	Buffer - Compliance Agreement (Business)	PPQ 519	10	1	10	1.250	13			C			
7 CFR 319	Buffer - Compliance Agreement (Individual)	PPQ 519	5	1	5	1.250	6			0			

255

SUBTOTAL

INSTRUCTIONS:			TIT	NT	OMB NO.					
							0579-0049			
						Buffer			DATE PR	REPARED
							July 16, 2018			
				I.		ANNUAL	BURDEN			
IDENTIFICATION C	OF REPORTING OR RECORDKEEPING REQUIREMENT			REPORTS						
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)
7 CFR 319	Buffer - Phytosanitary Certificate (Foreign Gov't)	None	10	50	500	0.500	250			0
7 CFR 319	Buffer - Phytosanitary Certificate (Business)	None	5	100	500	0.167	84			0
7 CFR 319	Buffer - Labeling and Marking (Foreign Gov't)	None	1	1,000	1,000	0.006	6			0
7 CFR 319	Buffer - Labeling and Marking (Business)	None	5	100,000	500,000	0.006	3,000			0
	Buffer - Importer Documents for Logs, Lumber, and Wood Mulch (Foreign Gov't)	None	10	5	50	0.500	25			0
	Buffer - Importer Documents for Logs, Lumber, and Wood Mulch (Business)	None	50	10	500	0.500	250			0
7 CFR 319	Buffer - Agreement For Post Entry Quarantine State Screening Notice (Business)	PPQ 546	8	1	8	0.250	2			0
7 CFR 319	Buffer - Agreement For Post Entry Quarantine State Screening Notice (Individual)	PPQ 546	2	1	2	0.250	1			0
7 CFR 319	Buffer - 30-Day Article Notification (Business)	None	2	1	2	0.083	1			0
	Buffer - Request for Emergency Trans-Shipment or Diversion (Business)	None	25	1	25	0.050	1			0
7 CFR 319; 7 CFR 352	Buffer - Notice of Arrival (Business)	PPQ 368	50	50	2,500	0.083	208			0
	SUBTOTAL				505,087		3,828	0		0

INSTRUCTIONS:				TIT	LE OF INFORM	NT	OMB NO.				
									0579	-0049	
						Buffer			DATE PREPARED		
		_							July 16, 2018		
IDENTIFICATION	OF REPORTING OR RECORDKEEPING REQUIREMENT										
	T			l ·	REPORTS				RECORDS		
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS	
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)	
7 CFR 319	Buffer - Emergency Action Notice (Business)	PPQ 523	5	4	20	0.500	10			0	
7 CFR 319	Buffer - Emergency Action Notice (Individual)	PPQ 523	10	2	20	0.500	10			0	
7 CFR 319	Buffer - Trapping, Production or Processing Site, Facilty Recordkeeping (Foreign Gov't)	None						5	48	240	
7 CFR 319	Buffer - Trapping, Production or Processing Site, Facilty Recordkeeping (Business)	None						50	48	2,400	
	SUBTOTAL				40		20	55		2,640	